PERRY COUNTY SCHOOLS 2023-2024 CERTIFIED SALARY SCHEDULE

Approved: 5/16/2023

YEAR EXPERIENCE	23-2024 YEARS	-	23-2024 3 YEARS	-)23-2024 9 YEARS	023-2024 14 YEARS	023-2024 19 YEARS)23-2024 23 YEARS	-	23-2024 + YEARS
RANK I	\$ 49,109	\$	50,224	\$	55,266	\$ 61,282	\$ 63,271	\$ 64,044	\$	65,965
Per Day	\$ 262.62	\$	268.58	\$	295.54	\$ 327.71	\$ 338.35	\$ 342.48	\$	352.76
RANK II	\$ 44,446	\$	45,472	\$	50,536	\$ 56,728	\$ 58,491	\$ 59,268	\$	61,046
Per Day	\$ 237.68	\$	243.17	\$	270.24	\$ 303.36	\$ 312.78	\$ 316.94	\$	326.45
RANK III	\$ 39,779	\$	40,680	\$	45,757	\$ 51,862	\$ 53,620	\$ 53,823	\$	55,438
Per Day	\$ 212.72	\$	217.54	\$	244.69	\$ 277.33	\$ 286.74	\$ 287.82	\$	296.46
RANK IV	\$ 35,117	\$	35,878	\$	35,878	\$ 35,878	\$ 35,878	\$ 35,878	\$	35,878
Per Day	\$ 187.79	\$	191.86	\$	191.86	\$ 191.86	\$ 191.86	\$ 191.86	\$	191.86
RANK V	\$ 32,751	\$	33,456	\$	33,456	\$ 33,456	\$ 33,456	\$ 33,456	\$	33,456
Per Day	\$ 175.14	\$	178.91	\$	178.91	\$ 178.91	\$ 178.91	\$ 178.91	\$	178.91

The board of education chooses to use the 2023-2024 salary schedule for extra days worked.

RANK I Has completed an approved Rank I or 6th Year Program.

RANK II Has Completed an approved Masters or 5th Year Program.

RANK III Has completed an approved teacher education program and has a certificate of eligibility.

RANK IV Has completed a minimum of 96 hours of college with a cumulative GPA of 2.5.

RANK V Has completed a minimum of 64 hours of college with a cumulative GPA of 2.5.

2023-2024 salary schedule will be based on 187 day contract.

Positions of Finance Officer, Food Service Director and Assistant, Transportation Director, Energy Systems Supervisor, Speech Therapists and Assistants, Occupational Therapists, and Nutritionist are paid using the certified pay scale. Achievements of rank will be approved by the Superintendent as these jobs are not dependent on obtainment of teacher certification.

Board added a 24+ column on July, 2021. 2023-2024 3% INCREASE

PERRY COUNTY BOARD OF EDUCATION 2023-2024 CLASSIFIED SALARY SCHEDULE AND POSITIONS 3% Increase

Approved: <u>5/16/20</u>23 Revised: 7/18/2023

Revised 8/15/2023

Protection Protection Protection Protection is a protection of prote			Niverski svije f								Revised	8/15/2023
Det.Derm Approved is Spervertins Constant Devis Sec. 101 Nr. 11 15 N			Number of Positions	Hrs / Day or	Approved	2022-2023	2022-2023	2022-2023	2022-2023	2022-2023	2022-2023	2022-2023
Tries Account Clerk II. 3 8 200 5 14.27 5 17.28 F 5 7.28 5 7.28 5 7.28 <td>EMPLOYEE</td> <td></td>	EMPLOYEE											
Triel Accounting Menager 1 8 200 8 207 3 23.0 5 33.0 5 33.0 5 33.0 5 33.0 5 33.17 100 Accounting Supervisor 1 8 240 5 14.2 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 5 14.0 <td>CODE</td> <td>JOB TITLE</td> <td>Staffing Method</td> <td>Determination</td> <td>Days</td> <td>SALARY</td> <td>EXPERIENCE</td> <td>EXPERIENCE</td> <td>EXPERIENCE</td> <td>EXPERIENCE</td> <td>EXPERIENCE</td> <td>EXPERIENCE</td>	CODE	JOB TITLE	Staffing Method	Determination	Days	SALARY	EXPERIENCE	EXPERIENCE	EXPERIENCE	EXPERIENCE	EXPERIENCE	EXPERIENCE
THE Accounting Superviver 1 8 200 \$ 1027 \$ 22.4 8 24.6 \$ 24.6 \$ 14.66 \$ 28.8 \$ 30.07 \$ 51.11 7220 Autimation Secretary Policy B 101 \$ 10.20 \$ 11.20 11.20 11.20 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td>							-					
TPEC Autimitations Secondary 2 8 200 \$ 14.56 \$ 15.05 15.05											-	
P2102 Assistent Coex/Manager Policy 6 111 8 901 1120 8 1281 1281<												
Typet Bigs Diver Need 4 1133 \$ 11726 1126 1126 1126 1126 1126 1126 1126 1126 1126 1126												
TPS3 Bus Introve Tamer 1 8 Pate 3 First 3 5 21.58 5 21.58 5 22.78 5 23.78 5 24.89 TM3 Bus Monitor for Psecond Neels Need Need 101 5 10.64 5 11.25 5 11.30 5 12.44 5 13.38 5 13.46 14.24 13.38 14.24 13.38 14.24 <th1< td=""><td>7863</td><td>Attendance Data Tech.</td><td>1</td><td></td><td></td><td></td><td>-</td><td></td><td></td><td></td><td>-</td><td>\$ 23.74</td></th1<>	7863	Attendance Data Tech.	1				-				-	\$ 23.74
TP42 Bis Monitor for Psocial Need Need Need 1400 \$ 1100 \$ 1122 \$ 1120 \$ 1240 1240 12			Need				-					
TPM3. Bite Monitor for Special Needen Need 111 5 1102 5 12.22 5 12.20 12.20			1 Nood									
17326 Child Care Director 1 8 200 \$ 10.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.23 \$ 12.24 12.24 12.24 12.24 12.24 12.24 12.24 12.24 12.24												
T324 Onisi Dev. Cir. Supervisor. 8 Need 240 \$ 15.5 5 16.73 5 16.73 5 17.13 17.14 17												
T783 Cencel Ast: 11(4): Finance Clerk) Policy B 210 \$ 11.04 \$ 11.90 \$ 12.24 \$ 12.81 \$ 13.82 \$ 14.80 \$ 14.48 \$ 14.45 <td>7324</td> <td>Child Dev. Ctr. Supervisor*</td> <td>8</td> <td>Need</td> <td>240</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	7324	Child Dev. Ctr. Supervisor*	8	Need	240							
T783 Camcal Asst. (HF Fnance Clerk) Policy 8 200 \$ 1104 \$ <td></td> <td></td> <td>,</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>			,									
TA32 Community Ed Demotor 1 7 240 \$ 13.85 \$ 15.01 \$ 16.81 \$												1
T318 Community Work Transition 2 7 161 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 13.40 \$ 14.45 \$ 13.20 \$ 14.45 \$ 13.20 \$ 14.45 \$ 13.20 \$ 14.45 \$ 13.20 \$ 14.45 \$ 13.20 \$ 14.45 \$ 13.20 \$ 14.45 \$ 13.20 \$ 14.45 \$ 12.20 \$ 14.45 \$ 12.20 \$ 14.45 \$ 12.20 \$ 14.20 <td></td> <td></td> <td>,</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>			,									
T241 Cowkfawer Policy FS Need 191 § 9.64 § 112.8 State 5 124.8 State 5 120.8 State 5 140.0 07000 Custodial Supervisor (tor raite) Policy/Meed 7 200.8 9.64 \$ 10.52 \$ 10.50 \$ 14.50 \$ 10.53 \$ 10.53 \$ 10.53 \$ 10.53 \$ 10.53 \$ 10.53 \$ 11.53 5 10.54 10.53 \$ 10.53 \$ 10.53 \$ 10.53 \$ 10.53 \$ 11.53 15.20 \$ 10.53 \$ 10.53 \$ 11.53 10.53 \$ 11.53 15.20 \$ 10.53 \$												
T212 Cook/Manager Policy FS Need 181 \$ 10.40 \$ 13.20 \$ 14.40 \$ 11.20 \$ 11.80 \$ 11.20 \$ 11.80 \$ 11.20 \$ 11.80 \$ 11.80 \$ 12.80 \$	7506	Computer Operations Mgr.	2		260			\$ 24.40				\$ 26.88
Tests Custodial Supervisor (1 per site) Policy/ 8 200 \$ 10.40 \$ 11.28 \$ 12.21 \$ 12.80 \$ 14.00 T700 Custodian Policy/Need 7 200 \$ 28.65 \$ 45.05 \$ 42.05 \$ 12.05 13.12.15 \$ 12.05 13.12.15 \$ 12.05 13.12.15 \$ 12.05 13.12.15 \$ <td></td>												
Trigon Cuatodian Policy/Need 7 260 \$ 9.64 \$ 10.52 \$ 10.55 10.55												
1 8 220 \$ 2856 \$ 38.06 \$ 42.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 44.07 \$ 110.15 \$ 12.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 \$ 14.01 14.01 14.01 14.01 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>												
T224 Food Service Clerk Policy FS Need 111 \$ 9.64 \$ 10.22 \$ 112.6 \$ 12.64 \$ 12.65 \$ 12.65 \$ 12.65 \$ 12.65 \$ 12.65 \$ 12.65 \$ 12.65 \$ 12.85 12.85 12.85 12			1									
T321 Inst. Assistant High School 3 7 181 \$ 1052 12.04 \$ 1.285 \$ 1.312 \$ 1.377 \$ 1.459 \$ 1.459 \$ 1.459 T316 Instructional Assistant Bilinqual Need 7 181 \$ 1.13 \$ 1.204 \$ 1.283 \$ 1.322 \$ 1.428 \$ 1.323 \$ 1.435 \$ 1.203 \$ 1.145 \$ 1.208 \$ 1.323 \$ 1.435 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.203 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.445 \$ 1.204 \$ 1.426 \$ 1.420 \$ 1.448 \$ 1.234 \$ 1.456 \$ 1.203 \$ 1.445 \$ 1.204 \$ 1.204 \$ 1.204 \$ 1.204 \$ 1.204 \$ 1.204 \$ 1.204 \$ 1.204 \$ 1.204 <td>7665</td> <td>Employee Benefit Specialist</td> <td>1</td> <td>8</td> <td>260</td> <td>\$ 15.26</td> <td></td> <td>\$ 17.56</td> <td></td> <td></td> <td></td> <td>\$ 20.76</td>	7665	Employee Benefit Specialist	1	8	260	\$ 15.26		\$ 17.56				\$ 20.76
T316 Instructional Assistant Blinqual Need 7 181 \$1.23 \$1.233 \$1.233 \$1.233 \$1.135 \$1.4.76 T316 Instructional Assistant II Policy 7 181 \$1.4.94 \$1.7.14 \$1.7.14 \$1.7.14 \$1.7.14 \$1.7.14 \$1.7.24 \$1.7.26 \$1.2.35 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.35 \$1.2.36 \$1.2.37 \$1.2.36 \$1.7.24 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.2.36 \$1.4.46 <td></td>												
T316 Instructional Assistant Bilinqual Need 7 181 \$ 17.41 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.74 \$ 17.20 \$ 17.84 \$ 11.46 \$ 12.20			÷									
T320 Instructional Assistant II Policy 7 181 § 9.0.2 § 10.9.0 § 11.4.5 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 12.2.6 § 22.7.6 § 22.7.6 § 22.7.7 § 24.0.7 § 24.4.0<												
7710 Instructional Assistant III (Special Ed) Policy 7 181 § 1252 \$ 1240 § 1345 § 1440 § 1523 7411 Lead Maintenance Tech. 1 8 260 \$ 1763 \$ 2297 \$ 2403 \$ 2247 \$ 2403 \$ 2247 \$ 2402 \$ 2449 \$ 2338 5 2447 \$ 2326 \$ 2327 \$ 2402 \$ 2479 \$ 22401 \$ 2247 \$ 22401 \$ 2247 \$ 22661 7 7 181 \$ 1944 \$ 2167 \$ 2265 \$ 2277 \$ 2402 \$ 2479 \$ 22651 7 7 181 8 1640 \$ 1639 \$ 1772 \$ 18430 1814 1815 1814 1815 1814 1817 18133 18145 18145 18145 18145 18145 18145 18145 18145 18145 18145							-					
T914 Lead Mechanic 1 8 200 \$ 17.83 \$ 17.83 \$ 21.56 \$ 22.70 \$ 23.78 \$ 24.49 \$ 24.61 7902 Transportation Maintenance Manager 1 8 260 \$ 11.87 \$ 22.56 \$ 23.27 \$ 24.02 \$ 24.79 \$ 25.61 7724 Maintenance HVAC Technician 1 8 260 \$ 15.94 \$ 15.84 \$ 16.84 \$ 16.84 \$ 17.64 \$ 17.72 \$ 18.41 \$ 17.06 \$ 17.72 \$ 18.41 \$ 17.64 \$ 17.72 \$ 18.41 \$ 17.06 \$ 17.72 \$ 18.41 \$ 17.72 \$ 18.41 \$ 18.02 \$ 17.06 \$ 17.72 \$ 18.41 \$ 17.06 \$ 17.72 \$ 18.41 \$ <td< td=""><td></td><td></td><td>,</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>			,									
Transportation Maintenance Manager 1 8 260 \$ 19.94 \$ 21.87 \$ 22.86 \$ 23.27 \$ 24.02 \$ 24.76 \$ 25.61 7020 Transportation Parts Manager 1 8 260 \$ 10.94 \$ 21.87 \$ 22.86 \$ 23.27 \$ 24.02 \$ 24.70 \$ 24.02 \$ 24.70 \$ 22.61 \$ 22.67 \$ 24.02 \$ 24.70 \$ 24.02 \$ 24.70 \$ 22.61 \$ 22.67 \$ 24.02 \$ 24.70 \$ 24.02 \$ 24.70 \$ 22.61 \$ 22.67 \$ 24.02 \$ 24.70 \$ 24.70 \$ 24.70 \$ 25.61 \$ 72.31 \$ 17.51 \$ 15.81 \$ 16.42 \$ 10.05 \$ 17.61 \$ 17.23 \$ 14.41 \$ 19.94 \$ 21.77 \$ 24.76 \$ 17.72 \$ 18.41 \$ 19.04 \$ 19.72 \$ 14.41 \$ 19.72 \$ 14.41 \$ 19.72 \$ 14.41 \$ 19.72 \$ 14.41 \$ 19.72 \$ 14.41 \$ 19.72 \$ 14.41 \$ 19.72 \$ 14.41 \$ 19.12 \$ 14.73 \$ 14.62 \$ 14.73 \$ 14.06 \$ 17.64 \$ 17.30 \$ 17.64 \$ 17.72 \$ 18.41 \$ 19.12 \$ 17.23 \$ 14.41 \$ 19.104 \$ 17.23 \$ 17		Lead Maintenance Tech.					-					
Transportation Parts Manager 1 8 260 \$ 19.44 \$ 21.87 \$ 22.61 \$ 22.77 \$ 24.02 \$ 24.70 \$ 25.61 T283 LPN Need 7.5 161 \$ 15.04 \$ 16.69 \$ 17.23 \$ 17.72 \$ 14.00 \$ 43.00 \$ 43.00 \$ 45.00 7424 Maintenance Tech. II 1 8 260 \$ 16.24 \$ 16.84 \$ 16.84 \$ 17.24 \$ 14.30 \$ 41.00 \$ 43.00 \$ 45.00 7444 Maintenance Tech. II 2 8 260 \$ 16.24 \$ 16.94 \$ 17.42 \$ 11.904 \$ 17.72 \$ 18.41 \$ 119.12 7447 Maintenance Worker II 2 8 260 \$ 13.33 \$ 14.90 \$ 16.48 \$ 16.08 \$ 17.72 \$ 18.44 \$ 19.12 7724 Maintenance Worker II 2 8 260 \$ 13.65 \$ 14.43 \$ 14.90 \$ 16.61 \$ 17.79 \$ 14.84 \$ 19.12 7722 Personnel Scertary 1 8 260												
T262 IPN Need 7.5 181 § 15.94 § 16.38 § 16.39 § 17.23 § 17.21 § 14.00 § 45.00 7424 Maintenance Tech. II 1 8 260 \$ 15.01 \$ 15.81 \$ 16.42 \$ 17.04 \$ 17.72 \$ 18.41 \$ 19.79 \$ 20.05 7444 Maintenance Tech. III 2 8 260 \$ 15.01 \$ 15.81 \$ 16.42 \$ 17.04 \$ 17.72 \$ 18.41 \$ 19.79 \$ 20.56 7442 Maintenance Tech. III 2 8 260 \$ 13.39 \$ 13.82 \$ 14.35 \$ 14.40 \$ 17.78 \$ 18.41 \$ 19.12 7447 Maintenance Worker II 2 8 260 \$ 13.65 \$ 14.63 \$ 15.00 \$ 15.46 \$ 16.08 \$ 16.75 \$ 17.23 \$ 18.41 \$ 19.12 7742 Parconnel Secretary 1 8 260 \$ 13.65 \$ 14.63 \$ 17.61 \$ 16.08 \$ 16.75 \$ 17.23 \$ 18.07 \$ 17.93 \$ 21.64 \$ 22.95 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>												
7424 Maintenance HVAC Technician 1 8 260 \$ 35.00 \$ 37.00 \$ 97.00 \$ 41.00 \$ 43.00 \$ 10.72 \$ 18.41 \$ 19.12 7444 Maintenance Tech. III 0 8 260 \$ 15.01 \$ 16.42 \$ 17.06 \$ 17.72 \$ 18.41 \$ 19.12 7447 Maintenance Worker II 2 8 260 \$ 13.30 \$ 13.65 \$ 14.63 \$ 15.48 \$ 16.08 \$ 16.70 \$ 17.23 \$ 14.74 \$ 10.04 \$ 17.45 \$ 17.99 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.04 \$ 17.29 \$ 19.02 \$ 17.29<			-									
7443 Maintenance Tech. III 2 8 260 \$ 16.24 \$ 16.81 \$ 17.64 \$ 18.33 \$ 19.04 \$ 19.70 \$ 20.56 7442 Maintenance Worker II 2 8 280 \$ 15.81 \$ 16.42 \$ 17.06 \$ 17.71 \$ 18.41 \$ 19.12 7471 Maintenance Worker II 1 8 2800 \$ 16.91 \$ 17.90 \$ 19.64 \$ 27.78 \$ 22.96 \$ 24.64 \$ 25.338 7762 Personnel Secretary 1 8 2600 \$ 14.63 \$ 16.08 \$ 16.75 \$ 17.23 7722 Purchasing Supervisor 1 8 2600 \$ 14.72 18.68 \$ 16.95 \$ 19.23 \$ 19.72 \$ 17.23 \$ 77.23 \$ 17.75 \$ 10.62 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$			1	8		\$ 30.00			\$ 39.00	\$ 41.00	\$ 43.00	
7442 Maintenance Tech. IV 0 8 260 \$ 15.01 \$ 15.01 \$ 16.42 \$ 17.06 \$ 17.72 \$ 18.41 \$ 19.12 7447 Maintenance Worker II 2 8 260 \$ 13.93 \$ 13.82 \$ 14.35 \$ 14.90 \$ 15.48 \$ 16.00 \$ 16.70 7191 PayonISpecialist 1 8 260 \$ 13.65 \$ 14.63 \$ 15.04 \$ 17.78 \$ 22.86 \$ 24.64 \$ 25.38 7722 Personnel Secretary 1 8 260 \$ 14.72 \$ 16.85 \$ 16.90 \$ 17.45 \$ 17.99 \$ 19.64 \$ 21.78 \$ 22.80 \$ 16.75 \$ 17.23 7722 Personnel Secretary 1 8 260 \$ 14.72 \$ 16.85 \$ 19.64 \$ 21.02 \$ 19.64 \$ 21.02 \$ 19.64 \$ 21.02 \$ 19.64 \$ 21.02 \$ 19.64 \$ 21.02 \$ 19.64 \$ 21.02 \$ 19.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7775 School Secretary - High Policy 8 181 9.64 \$ 10.52 \$ 10.90 \$							-					1 -
7447 Maintenance Worker II 2 8 260 \$ 13.39 \$ 14.35 \$ 14.30 \$ 14.90 \$ 15.48 \$ 16.08 \$ 16.70 7191 Payroll Specialist 1 8 260 \$ 10.91 \$ 17.99 \$ 19.64 \$ 21.78 \$ 22.96 \$ 24.64 \$ 25.38 7722 Purchasing Supervisor 1 8 260 \$ 14.72 \$ 16.08 \$ 15.01 \$ 16.08 \$ 17.43 \$ 77.99 \$ 10.64 \$ 21.78 \$ 22.96 \$ 24.64 \$ 25.30 7722 Purchasing Supervisor 1 8 260 \$ 14.72 \$ 16.08 \$ 16.90 \$ 17.45 \$ 17.23 \$ 19.78 \$ 20.35 \$ 25.79 \$ 26.32 \$ 26.85 \$ 27.99 \$ 27.92 \$ 28.76 7773 School Secretary - Elem. Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7782 Social Worker (Bachelors Degree) FRC Need FRC Need 200 \$ 24.51 \$ 20.90 \$ 33.10 \$ 34.52 \$ 35.94 \$ 37.39 \$ 38.50 7822							-					
7191 Payroll Specialist 1 8 260 \$ 16.91 \$ 17.99 \$ 19.64 \$ 21.78 \$ 22.96 \$ 24.64 \$ 25.38 7762 Personnel Secretary 1 8 260 \$ 14.63 \$ 15.09 \$ 15.61 \$ 16.08 \$ 17.55 \$ 17.99 7722 Purchasing Supervisor 1 8 260 \$ 14.72 \$ 16.08 \$ 16.75 \$ 17.99 \$ 19.964 \$ 17.45 \$ 17.99 \$ 19.09 \$ 19.09 \$ 19.64 \$ 17.45 \$ 17.99 \$ 19.09 \$ 19.09 \$ 19.09 \$ 17.45 \$ 17.99 \$ 19.09 \$ 19.09 \$ 19.09 \$ 19.09 \$ 19.64 \$ 10.52 \$ 19.23 \$ 19.52 \$ 19.90 \$ 21.86 \$ 13.24 7775 School Secretary - Elem. Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7782 School Secretary - High Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7882 Social Worker (Masters Degree) FRC Need 210 <td></td> <td></td> <td>÷</td> <td></td> <td></td> <td></td> <td>-</td> <td></td> <td></td> <td></td> <td></td> <td></td>			÷				-					
7762 Personnel Secretary 1 8 260 \$ 13.65 \$ 14.63 \$ 15.09 \$ 15.61 \$ 16.08 \$ 11.723 7722 Purchasing Supervisor 1 8 260 \$ 14.72 \$ 16.08 \$ 16.90 \$ 17.45 \$ 17.99 \$ 19.94 77262 Registered Nurse Need 7 210 \$ 18.22 \$ 16.55 \$ 19.96 \$ 19.78 \$ 20.35 7782 Resource Social Worker FRC Need FRC Need 200 \$ 25.30 \$ 25.79 \$ 26.32 \$ 26.85 \$ 27.99 \$ 27.92 \$ 28.76 7775 School Secretary - High Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7782 Social Worker (Bachelors Degree) FRC Need FRC Need 200 \$ 18.16 \$ 19.55 \$ 20.26 \$ 20.97 \$ 21.86 \$ 23.30 7882 Social Worker (Licensed Clinical S.W.) FRC Need FRC Need 200 \$ 21.18 \$ 23.90 \$ 23.54 \$ 33.94 \$ 37.39 \$ 29.57 \$ 29.56 26.26 26.68 \$												
7262 Registered Nurse Need 7 210 \$ 18.22 \$ 18.65 \$ 19.23 \$ 19.78 \$ 20.35 77862 Resource Social Worker FRC Need FRC Need 200 \$ 25.30 \$ 26.85 \$ 27.39 \$ 27.92 \$ 28.76 7775 School Secretary - Elem. Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7782 Social Worker (Bachelors Degree) FRC Need FRC Need 200 \$ 18.16 \$ 19.55 \$ 20.26 \$ 20.97 \$ 21.66 \$ 22.37 \$ 23.04 7882 Social Worker (Idensed Clinical S.W.) FRC Need FRC Need 2100 \$ 21.31 \$ 23.09 \$ 25.26 \$ 26.68 \$ 28.09 \$ 31.99 7902 Transportation Manager 1 8 2600 \$ 13.39 \$ </td <td></td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>			1									
7882 Resource Social Worker FRC Need FRC Need 200 \$ 25.30 \$ 25.79 \$ 26.32 \$ 26.85 \$ 27.39 \$ 27.92 \$ 28.76 7775 School Secretary - Elem. Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7773 School Secretary - High Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7882 Social Worker (Bachelors Degree) FRC Need FRC Need 210 \$ 24.51 \$ 28.09 \$ 33.10 \$ 34.52 \$ 35.94 \$ 37.33 \$ 38.50 7802 Transportation Manager 1 8 260 \$ 21.31 \$ 23.09 \$ 22.87 \$ 28.44 29.58 \$ 30.77 \$ 31.99 7902 Transportation Manager 1 8 260 \$ 13.39 \$ 14.82 \$ 15.40 \$ 16.61 \$ 17.25 \$ 17.92 7916 Vech. Mechanic I 3 8 260												
7775 School Secretary - Elem. Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7773 School Secretary - High Policy 8 181 \$ 9.64 \$ 10.52 \$ 10.90 \$ 11.45 \$ 12.20 \$ 12.86 \$ 13.24 7882 Social Worker (Bachelors Degree) FRC Need FRC Need 200 \$ 18.16 \$ 19.55 \$ 20.26 \$ 20.97 \$ 21.66 \$ 22.37 \$ 23.04 7882 Social Worker (Licensed Clinical S.W.) FRC Need FRC Need 200 \$ 21.31 \$ 23.09 \$ 34.52 \$ 36.50 \$ 30.77 \$ 31.99 7902 Transportation Manager 1 8 260 \$ 13.39 \$ 14.82 \$ 15.40 \$ 16.00 \$ 16.61 \$ 17.25 \$ 19.92 7910 Vech. Mechanic I 3 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.17 \$ 19.92 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 \$ 25.95 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>												
7773 School Secretary - High Policy 8 181 9.64 10.52 10.90 11.45 12.20 12.86 \$ 13.24 7882 Social Worker (Bachelors Degree) FRC Need FRC Need 200 \$ 18.16 \$ 19.55 \$ 20.97 \$ 21.66 \$ 22.37 \$ 23.04 7882 Social Worker (Licensed Clinical S.W.) FRC Need FRC Need 210 \$ 24.51 \$ 28.09 \$ 33.10 \$ 34.52 \$ 35.94 \$ 37.39 \$ 38.50 7882 Social Worker (Licensed Clinical S.W.) FRC Need FRC Need 210 \$ 21.31 \$ 23.09 \$ 22.68 \$ 37.39 \$ 38.50 7902 Transportation Manager 1 8 260 \$ 13.39 \$ 14.82 \$ 15.40 \$ 16.61 \$ 17.77 \$ 18.46 \$ 19.17 7916 Vech. Machanic I 3 8 260 \$ 15.85 \$ 16												
7882 Social Worker (Bachelors Degree) FRC Need FRC Need 200 \$ 18.16 \$ 19.55 \$ 20.26 \$ 20.97 \$ 21.66 \$ 22.37 \$ 23.04 7882 Social Worker (Licensed Clinical S.W.) FRC Need FRC Need 210 \$ 24.51 \$ 28.09 \$ 33.10 \$ 34.52 \$ 35.94 \$ 37.39 \$ 38.50 7882 Social Worker (Masters Degree) FRC Need FRC Need 200 \$ 21.31 \$ 23.09 \$ 25.26 \$ 26.68 \$ 28.09 \$ 28.81 \$ 29.67 7902 Transportation Manager 1 8 260 \$ 13.39 \$ 14.82 \$ 15.40 \$ 16.00 \$ 16.61 \$ 17.75 \$ 18.46 \$ 17.75 \$ 18.46 \$ 19.17 7916 Vech. Mechanic I 3 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.15 \$ 19.90 \$ 20.67 \$ 21.49 7312 STC Community Engagement Coordinator Grant Allowed 8 240 \$ 16.48 \$ 17.51 \$ 17.86 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Early Childhood Navigator Grant Allowed 8												
7882 Social Worker (Masters Degree) FRC Need FRC Need 200 \$ 21.31 \$ 23.09 \$ 25.26 \$ 26.68 \$ 28.09 \$ 28.81 \$ 29.67 7902 Transportation Manager 1 8 260 \$ 25.32 \$ 26.30 \$ 27.35 \$ 28.44 \$ 29.58 \$ 30.77 \$ 31.99 7917 Vech. Maint. Attendant/Unrouted Bus Drivers 1 8 260 \$ 14.82 \$ 15.40 \$ 16.00 \$ 16.61 \$ 17.25 \$ 17.92 7916 Vech. Mechanic I 3 8 260 \$ 14.85 \$ 16.46 \$ 17.10 \$ 17.77 \$ 18.46 \$ 19.17 7915 Vech. Mechanic II 2 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.15 \$ 19.90 \$ 25.95	7882	Social Worker (Bachelors Degree)	FRC Need	FRC Need	200			\$ 20.26			\$ 22.37	\$ 23.04
7902 Transportation Manager 1 8 260 \$ 25.32 \$ 26.30 \$ 27.35 \$ 28.44 \$ 29.58 \$ 30.77 \$ 31.99 7917 Vech. Maint. Attendant/Unrouted Bus Drivers 1 8 260 \$ 13.39 \$ 14.82 \$ 15.40 \$ 16.00 \$ 16.61 \$ 17.25 \$ 17.92 7916 Vech. Mechanic I 3 8 260 \$ 15.82 \$ 16.46 \$ 17.10 \$ 17.77 \$ 18.46 \$ 19.17 7915 Vech. Mechanic II 2 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.90 \$ 25.95 </td <td></td> <td>, , ,</td> <td></td>		, , ,										
7917 Vech. Maint. Attendant/Unrouted Bus Drivers 1 8 260 \$ 13.39 \$ 14.82 \$ 16.00 \$ 16.61 \$ 17.25 \$ 17.92 7916 Vech. Mechanic I 3 8 260 \$ 14.05 \$ 15.85 \$ 16.46 \$ 17.10 \$ 17.77 \$ 18.46 \$ 19.17 7915 Vech. Mechanic II 2 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.15 \$ 20.67 \$ 21.49 7312 STC Community Engagement Coordinator Grant Allowed 8 220 \$ 25.95												
7916 Vech. Mechanic I 3 8 260 \$ 14.05 \$ 15.85 \$ 16.46 \$ 17.10 \$ 17.77 \$ 18.46 \$ 19.17 7915 Vech. Mechanic II 2 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.15 \$ 19.90 \$ 20.67 \$ 21.49 7312 STC Community Engagement Coordinator Grant Allowed 8 220 \$ 25.95												
7915 Vech. Mechanic II 2 8 260 \$ 15.82 \$ 17.75 \$ 18.44 \$ 19.15 \$ 19.90 \$ 20.67 \$ 21.49 7312 STC Community Engagement Coordinator Grant Allowed 8 220 \$ 25.95 \$ 25.												
7312 STC Community Engagement Coordinator Grant Allowed 8 220 \$ 25.95 \$												
7312STC Early Childhood NavigatorGrant Allowed8240\$16.48\$17.51\$17.86\$18.40\$19.13\$19.80\$20.387312STC Senior Early StepsGrant Allowed8240\$19.00\$20.03\$20.38\$20.92\$21.65\$22.32\$22.917312STC Early StepsGrant Allowed8240\$16.48\$17.51\$17.86\$18.40\$19.13\$19.80\$20.387312STC Early StepsGrant Allowed8220\$23.54\$<												
7312STC Senior Early StepsGrant Allowed8240\$19.00\$20.38\$20.92\$21.65\$22.32\$22.917312STC Early StepsGrant Allowed8240\$16.48\$17.51\$17.86\$18.40\$19.13\$19.80\$20.387312STC Kindergarten TranstitionGrant Allowed8220\$23.54<												
7312 STC Early Steps Grant Allowed 8 240 \$ 16.48 \$ 17.51 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Kindergarten Transition Grant Allowed 8 220 \$ 23.54 \$ <td></td>												
7312 STC Literacy Coordinator Grant Allowed 8 185 \$ 16.48 \$ 17.51 \$ 17.86 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Literacy Coordinator Grant Allowed 8 220 \$ 17.28 \$ 18.28 \$ 20.60 \$ 21.63 \$ 23.23 \$ 24.81 \$ 25.55 7312 STC Senior Early Childhood Coordinator Grant Allowed 8 240 \$ 16.48 \$ 17.51 \$ 17.86 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Senior Early Childhood Coordinator Grant Allowed 8 240 \$ 16.48 \$ 17.51 \$ 17.86 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Tutor Grant Allowed GRANT GRANT \$ 14.42 \$ 15.45 \$ 16.07 \$ 16.87 \$ 17.88 \$ 18.78 \$ 19.34 7312 STC VROOM Early Childhood Ambassador Grant Allowed 8 240 \$ 17.30 \$ 18.54 \$ 19.65 \$ 20.24 \$ 20.85 \$ 21.99 \$ 22.65				8		\$ 16.48	\$ 17.51		\$ 18.40	\$ 19.13	\$ 19.80	· · · · · · · · · · · · · · · · · · ·
7312 STC Literacy Coordinator Grant Allowed 8 220 \$ 17.28 \$ 18.28 \$ 20.60 \$ 21.63 \$ 23.23 \$ 24.81 \$ 25.55 7312 STC Senior Early Childhood Coordinator Grant Allowed 8 240 \$ 16.48 \$ 17.51 \$ 17.86 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Tutor Grant Allowed GRANT GRANT \$ 14.42 \$ 15.45 \$ 16.07 \$ 16.87 \$ 17.88 \$ 18.78 \$ 19.34 7312 STC VROOM Early Childhood Ambassador Grant Allowed 8 240 \$ 17.30 \$ 18.54 \$ 19.65 \$ 20.24 \$ 20.85 \$ 21.99 \$ 22.65												
7312 STC Senior Early Childhood Coordinator Grant Allowed 8 240 \$ 16.48 \$ 17.51 \$ 18.40 \$ 19.13 \$ 19.80 \$ 20.38 7312 STC Tutor Grant Allowed GRANT GRANT \$ 14.42 \$ 15.45 \$ 16.87 \$ 17.88 \$ 18.78 \$ 19.34 7312 STC VROOM Early Childhood Ambassador Grant Allowed 8 240 \$ 17.30 \$ 18.54 \$ 19.65 \$ 20.85 \$ 21.99 \$ 22.65												
7312 STC Tutor Grant Allowed GRANT \$ 14.42 \$ 15.45 \$ 16.07 \$ 16.87 \$ 17.88 \$ 18.78 \$ 19.34 7312 STC VROOM Early Childhood Ambassador Grant Allowed 8 240 \$ 17.30 \$ 18.54 \$ 19.65 \$ 20.24 \$ 20.85 \$ 21.99 \$ 22.65												
7312 STC VROOM Early Childhood Ambassador Grant Allowed 8 240 \$ 17.30 \$ 18.54 \$ 19.65 \$ 20.24 \$ 20.85 \$ 21.99 \$ 22.65												

PERRY COUNTY SCHOOLS **DISTRICT ADMINISTRATION** DISTRICT ADMINISTRATIVE POSITIONS APPROVED,

SCHEDULE OF EXTRA DAYS APPROVED &

2023-2024

	Number of	EXTRA DAYS	TOTAL EXTRA	EXTRA SERVICE SALARY	EXTRA SERVICE
POSITION	Positions Approved	PER POSITION	DAYS APPROVED	PER POSITION	SALARY APPROVED
Deputy Superintendent	1	53	53	\$ 24,431	\$ 24,431
Assistant Superintendent	1	53	53	\$ 24,431	\$ 24,431
Finance Officer	1	73	73	\$ 17,758	\$ 17,758
Chief Academic Officer	1	53	53	\$ 11,193	\$ 11,193
Director of Special Education	1	53	53	\$ 8,287	\$ 8,287
Director of Pupil Personnel	1	53	53	\$ 6,996	\$ 6,996
High School DPP	1	53	53	\$ 6,996	\$ 6,996
District Technology Coordinator	1	53	53	\$ 10,224	\$ 10,224
School Food Service Director II	1	73	73	\$ 17,758	\$ 17,758
Assistant Food Service Director	1	53	53	\$ 4,736	\$ 4,736
Activities Coordinator	1	53	53	\$ 5,381	\$ 5,381
Program Director	1	53	53	\$ 6,996	\$ 6,996
Director of Federal Programs	1	53	53	\$ 6,996	\$ 6,996
Instructional Supervisor	2	53	106	\$ 6,996	\$ 13,991
Energy Manager	1	13	13	\$-	\$ -
Nutritionist	1	33	33	\$ 4,408	\$ 4,408
Director of Maintenance	1	53	53	\$ 6,996	\$ 6,996
Director of Transportation	1	53	53	\$ 6,996	\$ 6,996
District SPED Program Consultant	1	43	43	\$ 3,075	\$ 3,075

Revised: 06/29/23

CFO and School Food Service Director changed from 53 extra days to 73 extra days School Food Service Director extra service pay changed from \$6966 to \$17758 Assistant Superintendent Extra Service Pay equal to Deputy Superintendent Pay Revised: 07/18/23 Add \$2500 extra service role for instructional content review

PERRY COUNTY SCHOOLS EXTRA DUTY & EXTRA DAYS SALARY SCHEDULE

FOR PRINCIPALS & ASST. PRINCIPALS

2023-2024

	2023-2024	2023-2024
	# OF	EXTRA
SCHOOL	EXTRA DAYS	DUTY
Elem Asst. Principal	20	\$ 1,076
Buckhorn Asst. Principal	33	\$ 1,830
Perry County Central Asst. Principal	20	\$ 1,076
Leatherwood	40	\$ 4,628
Robinson	53	\$ 6,135
Viper	53	\$ 6,135
R.W. Combs	53	\$ 6,996
East Perry Elem	53	\$ 11,301
West Perry	53	\$ 11,301
Buckhorn H.S.	53	\$ 8,287
Perry Co. Central	53	\$ 26,657
TOTALS		\$ 88,736

**227 and 237 day Principal's moved to 240 day contracts. Approved June 29, 2023.

PERRY COUNTY SCHOOLS OTHER EXTRA DUTY PAY K-12, HIGH SCHOOL, and ELEMENTARY

2023-2024

Elementary schools will be allotted \$1200 per school year to pay for extra curricular sports/activities at the choice of the SBDM council in addition to basketball, cheerleading, and academic teams. The following pay schedule will be used to pay those positions chosen by the SBDM council.

POSITION-One Head Coach Per Team, Per School	Per School	SALARY
Basketball (Elementary Boys and Girls)	2	\$1,200
Cheerleading (Elementary Boys and Girls)	2	\$600
Academic Coach (Middle School)	1	\$850
Academic Coach (Elementary School)	1	\$850
Positions-One Position per Elementary School		
Soccer-Elementary		\$600
Cross Country-Elementary		\$400
4-H Club		\$300
BETA		\$300
Dance		\$300
Drama-Elementary		\$300
Performing Arts-Elementary		\$300
Speech-Elementary		\$300
Yearbook-Elementary		\$300
FBLA-Elementary		\$300
STLP-Elementary		\$300
Archery		\$300
Basketball below 7/8th grade		\$300
Robotics		\$300
E-Sports-Elementary		\$300
Girls Who Code-Elementary		\$300
AIR RIFLE		\$ 800.00

INSTRUCTIONAL

GIFTED AND TALENTED LEAD	\$	500.00
TEACHER MENTOR STIPEND	\$	500.00
DISTRICT REVIEW TEAM LEADS	\$	500.00
DIGITAL LITERACY COACHES	\$	1,000.00
SPEECH SALARY SUPPLEMENT	\$	2,000.00
INSTRUCTIONAL STIPENDS	\$20/hr	
SCM TRAINER	\$50/hr	

PERRY COUNTY SCHOOLS HIGH SCHOOL CO CURRICULAR & EXTRA-CURRICULAR

EXTRA DUTY & EXTRA DAYS SALARY SCHEDULE & POSITION APPROVAL

2023-2024

	EXTRA	RA DUTY	Max. # of	TO	TAL COST
	DAYS	ALARY	Positions		OF
POSITION	APPROVED	PROVED	Approved		TRA DUTY
Basketball		\$ 8,700.00	4	\$	34,800.00
Basketball Strength Coach		\$ 5,000.00	2	\$	10,000.00
Asst. Basketball		\$ 3,000.00	4	\$	12,000.00
Freshmen Basketball		\$ 2,000.00	4	\$	8,000.00
Head Football Coach*		\$ 8,700.00	1	\$	8,700.00
Football Strength Coach*		\$ 5,000.00	1	\$	5,000.00
Associate Football Coach*		\$ 10,000.00	1	\$	10,000.00
Football Strength Coach* (Associate)		\$ 2,000.00	1	\$	2,000.00
Assistant High School Football Coach*			6	\$	13,000.00
Baseball		\$ 3,000.00	2	\$	6,000.00
Asst. Baseball		\$ 1,500.00	4	\$	6,000.00
Softball		\$ 3,000.00	2	\$	6,000.00
Asst. Softball		\$ 1,500.00	4	\$	6,000.00
Wrestling*		\$ 2,000.00	1	\$	2,000.00
Asst. Wrestling		\$ 1,000.00	1	\$	1,000.00
Soccer		\$ 2,000.00	4	\$	8,000.00
Asst. Soccer		\$ 1,000.00	4	\$	4,000.00
Volleyball		\$ 2,000.00	2	\$	4,000.00
Asst Volleyball		\$ 1,000.00	2	\$	2,000.00
Track		\$ 750.00	4	\$	3,000.00
Cross Country		\$ 750.00	4	\$	3,000.00
Cheerleading Basketball		\$ 2,000.00	4	\$	8,000.00
Asst. Cheerleading Basketball		\$ 750.00	4	\$	3,000.00
Cheerleading Football*		\$ 650.00	1	\$	650.00
PCC Bass Fishing Team*		\$ 1,000.00	1	\$	1,000.00
Tennis*		\$ 750.00	2	\$	1,500.00
Golf*		\$ 1,500.00	1	\$	1,500.00
Middle School Baseball Softball		\$ 1,200.00	2	\$	2,400.00
Middle School Football*			4	\$	7,500.00
Elementary Football*			4	\$	3,600.00
Middle School Volleyball		\$ 400.00	4	\$	1,600.00
Speech		\$ 650.00	2	\$	1,300.00
Drama*		\$ 650.00	1	\$	650.00
Asst. Drama*		\$ 300.00	1	\$	300.00
Archery		\$ 800.00	1	\$	800.00
Air Rifle		\$ 800.00	1	\$	800.00
Band Director	15	\$ 3,500.00	2	\$	7,000.00
Asst. Band Director		\$ 1,500.00	1	\$	1,500.00
Chorus		\$ 1,300.00	2	\$	2,600.00
Yearbook		\$ 750.00	2	\$	1,500.00
Newspaper		\$ 750.00	2	\$	1,500.00
Academic Team Coach		\$ 2,500.00	2	\$	5,000.00
Asst. Academic Team Coach		\$ 1,250.00	2	\$	2,500.00
FBLA		\$ 300.00	2	\$	600.00
STLP		\$ 300.00	2	\$	600.00
Educator's Rising		\$ 300.00	1	\$	300.00
E-Sports		\$ 300.00	2	\$	600.00
Girls That Code		\$ 300.00	2	\$	600.00

* Positions at Perry County Central High School Only

PERRY COUNTY SCHOOLS EXTRA DAYS AND EXTRA DUTY SALARY SCHEDULES AND POSITION APPROVAL

2023-2024

	MAXIMUM	EXTRA	EXTRA DUTY
	NUMBER OF	DAYS	DUTY
	POSITIONS	PER	SALARY PER
EDUCATION POSITION	FOR EXTRA PAY		UNIT
Home Bound Teachers	3	20	\$ -
Voc. Ed Home Ec.	SBDM	10	\$ -
Voc. Ed Industrial Tech.	SBDM	5	\$ -
Voc. Ed Allied Health	SBDM	5	\$ -
Voc. Ed Agriculture	1	53	\$ -
Voc. Ed Business	SBDM	5	\$ -
Voc. Ed Media	SBDM	5	\$ -
Voc. Ed Marketing	SBDM	5	\$ -
Voc. Ed Health Science	SBDM	5	\$ -
JROTC ASI (Must meet DOA Standards)*	1	53	\$ 25,050.00
JROTC Instructor (Must Meet DOA Standards)*	1	33	\$ 17,500.00
Speech Pathologist (\$2,768 + \$1,000 for each SLPA supervised (Max. of 2))	Need	15	\$ 4,768.00
Speech Language Pathologist Assistant	Need	5	\$ -
Occupational Therapist	Need	33	\$ 10,211.46
Occupational Therapist (Medicaid Manager)	Need	53	\$ 15,593.00
K-12 Counselors	Need	25	\$ 861.00
Secondary Counselors	Need	25	\$ 861.00
Elementary Counselors w/ Midde School greater that 150 students	Need	25	\$ 861.00
Elementary Counselors	Need	10	\$ -
Elem. School Librarian	Need	10	\$-
High School Librarian	Need	20	\$ -
Building Assessment Coordinators	Need	0	\$ 500.00
Teacher Leadership	Need	0	\$ 1,500.00
Dual Credit Coordinator	SBDM	10	\$-
Dual Credit Teacher (Per Class)	Need	0	\$ 1,000.00
National Board Certification	Need	0	\$ 2,000.00
Alternate Assessment Training Stipend-PCC	1	0	\$ 3,000.00
Alternate Assessment Training Stipend-Elem and Middle	1	0	\$ 4,500.00
Preschool Special Needs Provider	1	0	\$ 3,229.00
Instructional Consultants	2	43	\$ 3,229.00
Instructional Coaches	3	20	\$ -
Dean of Students (PCC)	1	53	\$ -
Gifted and Talented Coordinator	1	20	\$ 3,000.00
Buckhorn Special Education	1	20	\$ -
Insttructional Content Supervisor	1	0	\$ 2,500.00
TOTALS			\$ 100,163.46

The number of positions in each capacity is based on the staffing request submitted by the SBDM Council at each individual school with the exception of positions that serve special needs students. The Board of Education approves the number of extra days and extra service salary indicated above if the school requests the positions shown as part of its staffing request.

*JROTC positions extra duty pay will be adjusted to meet the Minimum Instructor Pay determined by the Army Teacher Facilitators on Dual Credit Classes do not receive additional stipend

PERRY COUNTY SCHOOLS ELEMENTARY SCHOOL EXTRA DUTY SALARY SCHEDULE AND POSITION APPROVAL 2023-2024

	Max. Positions	EXTRA DUTY	Positions	TOTAL DISTRICT
POSITION	Per School	SALARY	Approved	COST
Basketball (Boys and Girls)	2	\$ 1,200	14	\$ 16,800
Cheerleading (Boys and Girls)	2	\$ 600	14	\$ 8,400
Academic Coach (Middle School)	1	\$ 850	7	\$ 5,950
Academic Coach (Elementary School)	1	\$ 850	7	\$ 5,950
TOTAL				\$ 37,100

PERRY COUNTY SCHOOLS PERRY CO HIGH SCHOOL FOOTBALL

EXTRA DUTY & EXTRA DAYS SALARY SCHEDULE & POSITION APPROVAL

2023-2024

	EXTRA	EXTRA DUTY	Max. # of	TOTAL COST
	DAYS	SALARY	Positions	OF
POSITION	APPROVED	APPROVED	Approved	EXTRA DUTY
District Elementary Coordinator		\$ 15,000.00	1	\$ 15,000.00
Head Football Coach		\$ 8,700.00	1	\$ 8,700.00
Football Strength Coach		\$ 5,000.00	1	\$ 5,000.00
Associate Football Coach		\$ 10,000.00	1	\$ 10,000.00
Football Strength Coach (Associate)		\$ 2,000.00	1	\$ 2,000.00
Junior Varsity Head Coach		\$ 5,000.00	1	\$ 5,000.00
Linebacker Coach		\$ 3,000.00	1	\$ 3,000.00
Defensive Line Coach		\$ 3,000.00	1	\$ 3,000.00
Defensive Line/Offensive Line Coach		\$ 2,500.00	1	\$ 2,500.00
Running Back Coach		\$ 2,500.00	1	\$ 2,500.00
Equipment Coach		\$ 1,000.00	1	\$ 1,000.00
Assistant Offensive Line Coach		\$ 1,000.00	1	\$ 1,000.00
Middle School Football				
Head Coach		\$ 4,800.00	1	\$ 4,800.00
Assistant Coaches		\$ 900.00	3	\$ 2,700.00
Elementary Football				
First Assistant		\$ 1,000.00	1	\$ 1,000.00
Second Assistant	1	\$ 600.00	1	\$ 600.00

PERRY COUNTY SCHOOLS SUBSTITUTE TEACHER SALARY SCHEDULE 2023-2024

	ss than 27 years full time teacher	27 or more years as a full time teacher		
RANK	Per Day		Per Day	
<u> </u>	\$ 83.00	\$	96.00	
	\$ 81.00	\$	93.00	
	\$ 78.00	\$	91.00	
IV	\$ 72.00	\$	80.00	
V	\$ 70.00	\$	77.00	

All Substitute Teachers are required to participate in KTRS and will be withheld in accordance to KTRS regulation. FICA will not be withheld from certified substitute teacher pay.

- RANK I Has completed an approved Rank I or 6th Year Program.
- RANK II Has completed an approved Masters or 5th Year Program.
- RANK III Has completed an approved teacher education program and has a certificate of elegibility.
- RANK IV Has completed a minimum of 96 hours of college with a cumulative GPA of 2.5.
- RANK V Has completed a minimum of 64 hours of college with a cumulative GPA of 2.5.